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The Code No. on the right side of the question paper
should be written by the candidate on the front page
of the answer-book.
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Before beginning to answer a question, its Serial
Number must be written.
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FIT-gRaE # & 7 @il i/ 9 7 88l

Don’t leave blank page/ pages in your answer-book.

JIR-gRerE & GfRET @ o sfie dE R o
STTHAFAT & ford Y forar g 7 Fe

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
ansuwer.

gelaref qrgar T To FIT UF T HI9T i@

Candidates must write their Roll Number on the
question paper.

YT T F T &7 @ JF I8 GERTT T T [F HAIT
i 7 @& 2 qhar @ G 59 ey § @ f @&
B TE BT TR

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

T 759

General Instructions :

(i) & 7T Ty &
All questions are compulsory.
(i) 57 Fo7-94 # FT 17 F97 8 o [ aR-&vel :
H g FgHANTTaR WS
&% ‘F’ ;37 G 7 @ 597 & fred
FER 7 GO (i-xvi) F37 B 9T
T 1 oF # A q# Guv ST
gT-giiesr 7 ke
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% F: SO H2 §6 7F &7 g HeT
& o gs7 3 o &7 B

g% 9 FHEE AT T12 TF TF & T
2 g@F geT 4 SFH F 2

&% ¢ : 39 @ve § 13 § 17 w?w%
797 & % 997 5 oiE T 8

This question paper consists of 17 questions

in all, which are divided into four

Sections : A, B, Cand D :

Section 'A’': This section consists of one
question which has Sixteen
(i-xvi) Objective type questions,
each of 1 mark. Write correct
answer in your answer-book.

Section 'B': This section consists of five
qguestions from 2 to 6, each of
3 marks.

Section 'C' : This section consists of six
questions from 7 to 12, each
of 4 marks.

Section 'D': This section consists of five
questions from 13 to 17, each
of S marks.

T @Y T HEAET T e dT aw T &
gt § opia Ry R 7@ 21 9 ge91 F @
HTYFH HIT TF & J97 FTAl Bl

There is no overall choice, but in two
questions of Section D' internal choices are

given. You have to attempt only one of the
given choice in such questions.
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s - A
SECTION- A

140 % 9T TOHEvS B ToH%T & ©9 H TR
Hifeg 1

Express 140 as a product of its prime
factors.

fFrefefaa & § SW-d1 ey ger # 7 1
A) <8 (B) 18
(C) ~25 (D) +27

Which of the following is rational number ?

(A) 8 (B) 418
(€) 25 I o7

fgard 9898 4x? +8x & FF A BT 1

Find the zeroes of quadratic polynomial
4x° +8x.

feur @BU x®+7x+10 & g1 H AN HE
P 1

Find the sum of zeroes of quadratic

polynomial 2% 4 x#10.
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v) p ® B "Wt & foq Wes g & W &
Jfecg & & 7 1

4x+ py+8=20
28+ 24+ 3 =0

For which value of p does the pair of
equations given below has unique solution ?

4x+ py+8=0
XN D =9

(vi) 4x%+4x+1=0 F s o Ak 1

Find the discriminant of 4x2 +4x+1=0.

(vil) AL B V@l 7,088, ... a8 H 1047 T I

Hiferg) 1
Find 10th term of an A. P. : 2, 7, 12,

(viii) A. P. : —4, =10, =16, 22, ..... T GEATC BT : 1

(A) 6 (B) -6

() 4 (D) 8

The common difference of an A. P. : -4, -10,
~I5P-220 ... . B . will be

(A) 6 (B} -6

(C) 4 (D) 8

P.ilk O.
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(ix) figatt (2, 3) 8k (4, 1) §r=3 & T @ Ffvmw 1

Find the distance between points (2, 3) and

(4, 1).
(x) Fefafed & @ qa fig & i @ 2 7 1
(A) (1, 1) (B) (2, 1)
(C) (0,0) (D) (2, 2)

Which of the following are the coordinates
of the origin ?

(A) (1, 1) (B) (2, 1)
(C) (0,0 D) (2, 2)
(xi) sin?45° +cos?45° & HH BT : 1
) 1 B 7
(C) 2 (D) g
The value of sin” 45° + cos?45° will be :
1
(4) 1 (B) G
(C) 2 (D) —Jg
(xii}ﬂfi‘sin(i}:g 8, @ cos O F TH BT : 1
5
(A) O (B) 73
3 3
q T 15
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fin = %, Fivens;, opeGolides

5
(A) O (B) A
3 3
(C) E (D) Py
(xiii) BT ~ g @1 ORY AR 1
(A)  2rnr’ (B) 2mr
(C) 3nr? (D) nr?

The circumference of a circle with radius r
will be :

(4) 2nr? (B) 2nr

(C) Brr? 2. ¥ o\ wr?

(xiv) FeH F ARG TG o PR Bew 7 e

(xv)

4204

HHI: 7 WA T 5 WA B 1

Find the volume of cylinder whose radius
and height are 7 cm and 5 cm respectively.

& foare! dfimr o doen 2 @ @ d9 g
%l 7% 9 ® 5t @ Fm Sfiow @ s
0.62 Bl duiedl & Siia @1 &1 Jiiesar & 7 1
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Two players, Vanshita and Tejasvi play a

tennis match. It is known that the
probability of Vanshita winning the match
is 0.62. What is the probability of Tejasvi

winning the match ?

(xvi) 52 TOT @ T THER d Bl T UF T F T @
U T A B @ A 7 W AR W S
P TifHaT sTd Hie) 1

One card is drawn from a well shuffled deck
of 52 cards. Find the probability of getting a

king of red colour.

qE -9

SECTION-B

867 3T 255 ®H HCF Joe o= sAfs & Sar
D S Bl 3

Use Euclid's algorithm to find the HCF of 867
and 255.
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3. & feoam gW am #itg, Fad g @
O AT % qer —1 Bl 3
Find a quadratic polynomial, the sum and
product of whose zeroes are i and -1
respectively.

4. T ot A Reoe e 7 @ R # 7 3
How many three digit numbers are divisible by 7 ?

5. TR sec 4A = cosec(A - 20°), &l 4A Th F HIT B,
A F AW T S 3
If sec 4A = cosec(A — 20°), where 4A is an acute
angle, then find the values of A.

6. Tt Bach & 50 A @i e wegh 3 Rt
S W fear i 3

af® IF!E& 100-120|120-140|140-160{160-180{180-200
{ )
Al B gE 12 14 8 6 10

4204

I Al & offl $ AT A AEGl ST B

P.ilk O.



(10) 4204

Consider the following distribution of daily

wages of S0 workers of a factory :

Daily Wages (in %) |100-120|120-140|140-160|160-180|180-200

Number of Workers 12 14 8 6 10

4204

Find the mean of daily wages of this factory

workers.

e -9

SECTION-C

. 0P Fpe T @ Fg F 7 Sw @0 6 I8 3,800 T H

Gidh 9% |, 989 3 s o 5 I 1,750 ¥ H @l
T T T TEE e F G T B 4

The Coach of a cricket team buys 7 bats and 6
balls for ¥ 3,800. Later, she buys 3 bats and 5
balls for ¥ 1,750. Find the cost of each bat and
each ball.

T ol B 18 18 % A &
2x 3y 3x 2y 6

Waw wHHET & W A TTaHT B0 B 4
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Solve pair of equations 3 JrL =2 and
2x By
1 1 13 ; : i
—+— =— by reducing them to pair of linear
sx 2y ©
equations.

9. y-31y UX U% Uy &g oM Afrg, St Rigatt Age, 5) ST
B(-4, 3) § AT B 4

Find a point on the y-axis which is equidistant

from the points A(6, 5) and B(-4, 3).

10. U GREYS &1 & sTa S s o, 590 &9 |
(3,0), (4, 5), (-1, 4) ¥ (2,-1) & 4

Find the area of a rhombus if its vertices are

(3, 0), (4, ), (-1, 4) and (-2, —1) taken in order.

11. B 21 @ 9 99 &1 0% 919 % G 60° H BV
AT Bl 81 S P ¢ (i) TN B qWE (i) TN
B ST Y BerEE H S 2+2=4
In a circle of radius 21 cm, an arc subtends an

angle of 60° at the centre. Find : (i) the length of

the arc (ii) area of the sector formed by the arc.

4204 P.ilk O.
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w i 3% & 5o W P A R R 1 2 R ww
R 2, 23 & 9 R iR 5 ¥ & o0 R 31 3R
fft §% B Bat Iw FE W B & e e @
gRuTE gEiEE E, d 3EE & e @ B oae
BT e (i) 1 ¥ 1 8PN 7 (i) 50 YW & E A 7
2+2=4
A piggy bank contains hundred 50 paise coins,
fifty T 1 coins, twenty ¥ 2 coins and ten ¥ S
coins. If it is equally likely that one of the coins
will fall out when the bank is turned upside
down. What is the probability that the coin (i)

will be T 1 coin ? (ii) will not be 50 paise coin ?
gwE - T
SECTION-D

TF GHEHY BT H HE T MK § 7 G OFA B
i Fo 13 A F A, A A A A T oW 5

The height of a right triangle is 7 em less than
its base. If the hypotenuse is 13 cm, find the

other two sides.

YT
OR
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TF Aiex sie s e 9w § O 18 fer/aver 2,
24 Bl o & sfoga oW # 99 g 90 B SR
W P ST 1 HeT AU Wl B HI $ = S
HIfTg 5

A motorboat whose speed is 18 km/h in still
water takes 1 hour more to go 24 km upstream
than to return downstream to the same spot.

Find the speed of the stream.

14. 5t A.P. 3 =% 3fX 83 Gl &1 a7 24 B 71 B SR
108 TS T AT 44 B I A. P. F W oW U8 S0
T 5
The sum of the 4th and 8th terms of an A. P. is

24 and the sum of the 6th and 10th terms is 44.
Find the first three tg;ms of the A. P.

15. UF HAR % UK f§g 8 @& w9 & @ & gEA S
30° & 3 oA & U g & AR & Rmew & 3=
FIT 60° Bl A HWRK 50 A G A, A T B SR
ST it 5

The angle of elevation of the top of a building
from the foot of the tower is 30° and the angle of
elevation of the top of the tower from the foot of
the building is 60°. If the tower is 50 m high,
find the height of the building.

4204 P.ilk O.
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FE T T dEd o 3 SR # 2 RS W
UF Tad do9 STERIT 21 39 a9 B H9 Han 13
U T AP F AR 14 A 21 3G TO9 B AAD
g1 EE%A S B 5

A vessel is in the form of a hollow hemisphere
mounted by a hollow cylinder. The diameter of
the hemisphere is 14 cm and the total height of
the vessel is 13 em. Find the inner surface area

of the vessel.

frfefaa |l el oregae o fa9w a | it 8g
At it oy Hi 9 B 5

ng(aﬂ ﬂ) 5-15(15-25| 25-35 | 35-45 | 45-55 | 55-65

WwtH/ | 6 | 11 | 21 | 23 [ 14 | 5

SUIRRT HTHST & FEAS S i)

The following table shows the ages of the

patients admitted in a hospital during a year :

Ages (in Years)| 5-15 |15-25|25-35|35-45|45-55|55-65

Number of 6 11 21 23 14 o
Patients

Find the mode of the data .
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STgar
OR

ffafed aear §e9 6t Ateed @ 70 SUsERmS
& fasTell # afys @ug ufar B &9 ifws! @1 ArE®

ST I 5
At @ (SRt #) IS B HEAT

65-85 4

85-105 5
105-125 13
125-145 20
145-165 14
165-185 8
185-205 4

4204
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The following frequency distribution gives the
monthly consumption of electricity of 70

consumers of a locality. Find the median :

Monthly Consumption Number of
(in Units) Consumers
65-85 4
85-105 S
105-125 13
125-145 20
145-163 14
165-185 8
185-205 4

4204



